N = 0l & AF & F Al A

20118 =20& SAnSAYE SE3H &H

2N DED
Hu: ZDE |4 A
S CALS SAN(SADSAY SH3IH) (25 &2
_ _ _ Muo
SA - H L SR(SH) - HRAMY - BS 4 e HRE2
5,373,513 4,259,245 1,114,268
IEDS |4 X 5,373,513 4,259,245 1,114,268
CADE SEXN(TADEAY SE5) 1,013, 193 904, 188 109,005
NSETIS K X EH A 79,580 47,336 30,244
201 LByl 36,680 32,936 3,744
01 ALRelt] 1,360 8,616 2,744
O Y8l 6,000
- NLBUER Bl HNessy HE
3002 * 10,0000 3,000
- NQBISK B DS DAMN M
5002 * 6,0000H 3,000
O 2| 3,360
- NYERST NEH
7,000 * 421 + 102 * 122 3,360
O T=y| 2,000
- 958 (¥Y) 1=
2500009 * 491 * 23] 2,000
2 BB 25,320 24,320 1,000
O 2222 ¥ HAl 4,320
- SAJIDIABE 60,0008 * 604 * 122 4,320
O Tz el 21,000
- AEB oaxE sXza
7,000,008 * 3CH 21,000
202 04t 14,400 14,400 0
01 2Uhoitl 14,400 14,400 0
O NESUSR BRI B
20,0002 * 491 % 152 * 128 14,400
405 THAHE S 28,500 0 28,500
01 RMUSEHSH| 28,500 0 28,500
O 8RS S U 7Y 3,500
- BRI S JtHet (MXEE)
1,700,009 * 1CH 1,700
- HANNY S BIH 7Y
1,800,0002! * 1CH 1,800
O SleNsSx NEEY 2 o Hxt
25,000,000 * 1CH 25,000
AFNY BB 800,000 350,000 450,000
401 AIZHIL2CH] 800,000 350,000 450,000
01 Al 800,000 350,000 450,000
O M8 =8 IYFNE =T
500,000,008 * 192 500,000
O IYFNE JHl L 24
10,000,0009 * 3072 300,000
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SN DED
HH: ZRE 54 N
S CADS SN (SARSAY SE3H) (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
R 133,613 503,012 £369,399
801 i1t ] 133,613 503,012 369,399
01 oIl 133,613 503,012 369,399
O oIt 133,613,000 * 14! 133,613
DENHE HB(TARSAY SHIH) 4,360,320 3,355,057 1,005,263
DSFAE HX ¥ H| 4,347,040 3,352,537 994,503
201 L2y 57,040 54,032 3,008
01 AR eIt 57,040 54,032 3,008
O Yersgt| 4,000
- DEAEPR Ha
100,00020 * 1044 * 43l 4,000
O 3zl 5,040
- DEALAYRY SN RSN
7,00020 * 621 * 102 * 122 5,040
O Yz 48,000
- A Y2
1,000,0008 * 4CH * 122 48,000
401 AIZHIL2CH] 4,250,000 3,258,505 991,495
01 Al 4,240,000 3,250,000 990,000
O DEARAL LX(FE22)
700,000,000% * 14! 700,000
O ORI0I2ETY DEAFAIL S L Hy|
(s 20,000,0008 * 2072 400,000
O AETM(ZE22) 800,000,008 * 1A 800,000
O REAN&AE 2 AAH(BE2L)
400,000,0002 * 14! 400,000
O NSS &1 % FH(BE22)
400,000,0002 * 14! 400,000
O SEASI L TOAIZ BAD| SX(HE2
2l) 1,000,0008 * 2007H 2 200,000
O NRUE SY=22I0 SXBA
200,000,0008 * 14} 200,000
O NE1056 SY=2U SXBA
270,000,0008 * 14 270,000
O ZNZ SY=20 SXSA
270,000,0008 * 14] 270,000
O HH2E HHYIIBA X
10,000,0002 * 3074 2 300,000
O olZoI25 2% CCTV &X|
30,000,0008 * 10742 300,000
03 Al&=CHYl 10,000 8,505 1,49
O RMEEM L ASS &3
10,000,0002 * 14} 10,000
402 RIAX 20 H 40,000 40,000 0
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sus |4 N2
SN EHE(ZALSAY SE3IH)

M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
01 SIZtGEEX 40,000 40,000 0
O WaES =XHE 2HIIA
2,000,000& * 2092 40,000
ASIt2elAtd 2el2st 13,280 2,520 10,760
201 LBt H| 3,680 2,520 1,160
01 AtSR2t2ldl 3,680 2,520 1,160
O =&l 1,680
- At=S X2l AHS XM K| & B
7,000& » 401 » 5 « 123 1,680
O NEMBRAEAL NYSHA L OAMA
X = 500& = 4,0000H 2,000
202 O4Hl 9,600 0 9,600
01 =LA bI 9,600 0 9,600
O X=sxt2elgAt XN & ¢
20,000& * 421 » 10 * 12& 9,600




SN SE7 ALDSD

[=]

o ZDE SAN(SYT AETED)
SR TADNE SAXNI(SAILSAYE EE3H) (2 &)
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
sg3P AL8nEN 1,295,900 1,301,546 N5, 646
Hszwns SN (sEF Hd8us) 1,295,900 1,301,546 N5, 646
CARNE SN (SADEAIYE EHSIH) 1,295,900 1,301,546 A5, 646
NERYIHY=2 2 18,205 16,645 1,560
101 @12dd| 9,000 9,000 0
04 JI2tMZ22ANsSsE 4 9,000 9,000 0
O ISSY=LITAL
50,000 * 621 = 30 9,000
201 LBt dY| 6,805 7,645 A 840
01 At 2t2ld] 4,180 5,020 A 840
O gt=2H| 2,500
- WERYEEZ DX MHE
800 = 1,5000H 1,200
- DERLRYS URER oS
600& = 1,5000H 900
- ZANRE MEES 400,000 = 13 400
O =&l 1,680
- DERYRYzYL £
7,000 % 2021 x 120 1,680
02 2224 H| 2,625 2,625 0
O 2zez 2 HAl 2.625
- NERYEEZ NIAN RER2
1,750 = 1,500 2,625
202 O4H] 2,400 0 2,400
01 2Wobl 2,400 0 2,400
O nERYRYzYRE
20,0008 * 2021 = g0 2,400
HAQABXE 22 9,140 7,080 2,060
201 LEt29Y| 7,080 7,080 0
01 AP 2t2ld] 1,800 1,800 0
O gt=2H| 1,380
- HI|EA AFEOHL & ZFMAM HIE
300 = 3,0000H 900
- H)|EEALt BRI DXN(E=S)H M=
300& = 1,6000H 480
O dJIEZ AMENOHUAN & DINES HSE
RS 704 x 6,0000H4 420
02 2239t 5,280 5,280 0
O AIEHBISX Y| 5,280
- XANSA F)|EZda2e T2 SX8ES
440,0008 = 12& 5,280
202 O44] 1,760 0 1,760




AN SEF HEUWS
M zsns 4K
el TAIL |

bl
A(SYP ALDSH)
S SHNA(SADEAY SH3H)

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
01 WYl 1,760 0 1,760
O SY (I EIe)XE s
20,0003 * 201 » 2 = 128 960
O S AZESRHHS(22)
50,0002 * 12! * 4 « 43 800
405 AHeHESHI 300 0 300
01 TR =S FH SHI 300 0 300
O tXgotieH S8 nsadEE)
300,000& = 1CH 300
WSAE XX RN 22 646,545 572,651 73,894
201 et 3,600 3,600 0
01 AtR2teld] 3,600 3,600 0
O get+=&H| 800
- wUSAlEtNZHE SEES A
100,000& = 83l 800
O =&l 2,800
- WSAEAGEHFA
7,000& = 201 » 100 1,400
- WSOHMAIE R X 2tel
7,000& = 2@ « 100 1,400
202 O4H| 6,240 8,800 A2,560
01 WY 6,240 8,800 A2,560
O NsSAE B2 HRFA
20,0003 * 221 » 13& = 123 6,240
307 QI12tolH 45,000 45,000 0
06 283 45,000 45,000 0
O WEANE=S o2 40,000,000 * 14| 40,000
O LEANE2 YllEE IIRE=
5,000,000& * 14! 5,000
401 Al EHIL 201 591,705 515,251 76,454
01 Al&HI 588,000 512,000 76,000
O REAFEANLEE(HE)RNE(SHIHHA)
18,000,000& =+ 128 216,000
O DNSAHEAEE(XE) S E 4= (SIHH )
20,000,000& * 12& 240,000
O AN A SHAl SNSLE SN Ea=(SOHH
) 6,000,000 = 12& 72,000
O AU A RHSZERIE = (SIHH )
5,000,000& = 128 60,000
03 Al&=R0HHl 3,705 3,251 454
O WSHEANELERANES
588,000,000& * 0.63% 3,705
sHFEXNER 2E 617,130 700,290 A83,160




SN S27 ALDED

[=]

=

2 (ENS SNV (SLP ALDSH)
B9 ZADS SAXNE(SADSAY SH37) (25l &2
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 Yer2 YY) 415,250 488,690 A73,440
01 A2l 62,790 63, 130 A340
O st 47,170
- EFXCS B2 H4 100,0002 * 40H 4,000
- FITSAL HDY 5002 * 10,0000 5,000
EHASIU DR POALEIS
5002 * 10,0000 5,000
- EFXAL A0S SA
7002 * 1,5000H 1,050
- COTVER XSS ARSI
5002 * 26,0000 13,000
- EHASAY D2 DAA
5002 * 8,0000H 4,000
- DNMEY DRE EH(LEA)
70,0009 * 183K * 122 15,120
O =l 3,300
- FYNSETLY W2 (EER)
300,002 * 112l 3,300
O 2| 2,320
- ERUNESHEET
7,000 * 1121 * 1602 12,320
2 ZZ2YH) 352,460 425,560 A73,100
O BZR2 ¥ WAl 269,200
- AQBHA MR 70,0008 * 122 840
- FIXSEE ISHSH(IAL)23
70,0002 + 10CH * 128 8,400
- Polci&diNe H83M 082
10,0008 * 1544 * 122 19,800
- Rolet=stiet ®II23
25,0009 * 50044 * 128 15,000
- EFILAY DH2DAA 52 RHRI(S
o) 1,80020 + 2,6000 * 122 56, 160
- EHASAY NHENN L 2HRS(SD
) 1,800 * 4,50004 * 122 97,200
- EFXAY NALE SUA 2B
2802l * 4,5000H * 122 15,120
- ERL DHE SSDNN 32 2B
2(s01) 1,8002 * 2,3000 * 122 49,680
- EHX VB AR £
802! * 50,0001 4,000
- REXNBHDS 750,008 * 4CH 3,000
O ANEZHISXHI 53,260
- EFABE WAT2IY NS
30,0009 * 122 7,560
- FEXGE AFA WS L SATHIRNE
% 3,000,0008 * 1 3,000




SN SET AEDSD

HH: ZDE SAN(SET ALDED)
SR TADNE SAXNI(SAILSAYE EE3H) (28
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- = ) * - (= R wi e e o = O:H{ﬂ_% Wsa
- X2 FHIES JHH2 SAES
2,000,000& = 20 = 14 4,000
- FEHEXSECCTVINHISH SAE S
1,000,0008 = 38CH » 14 38,000
- FEXNSE T2 VBAH BHASKIIES
700,000& = 14 700
O Xtgo eyl 30,000
- FTAXNSSEIES A 22
7,500,000 = 404 ~ 14 30,000
202 O4d] 26,880 21,600 5,280
01 2Wobl 26,880 21,600 5,280
O YEITCS
20,0008 = 9021 x 8& * 12& 17,280
SETIEEES
20,000& = 201 x 202 = 12&€ 9,600
401 AlEHILE0HY] 175,000 190,000 A 15,000
01 Al&H]| 175,000 190,000 A 15,000
O E8HF=EXCSECCTVA X
35,000,000 = 5CH 175,000
SCHEEX| XtEF 2t2] 4,880 4,880 0
201 LBt AH| 1,680 1,680 0
01 AI22t2|b| 1,680 1,680 0
O 2| 1,680
R P eSS
7,000 x 2021 « 10 « 12€ 1,680
202 O4d] 3,200 3,200 0
01 =2Woib] 3,200 3,200 0
O XA L EGAHIEY AR
20,0008 = 2021 = 80 3,200
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AN A7 H2EuSH

HH: 51 SLNI(MEF HEnED)
Bl TANS SEX(ZANSME SE3) (98

_ _ pSNE e
N EH - S2A(3H) - MRAE - BES &hoh @Egj Hws2
- DEFAEAYER
7,00020 * 321« 122 * 122 3,024
202 04t 8,640 7,800 840
01 =2Uioibl 8,640 7,800 840
O REFINE L DEATALSART 2
20,0002 * 391 + 122 * 122 8,640
307 CI2H0IH 45,000 45,000 0
06 2832 45,000 45,000 0
O DEANEES SH2E 40,000,002 * 1A 40,000
O RENEE M2E RII2LS
5,000,0002 * 1Al 5,000
401 Al&HI L= 0| 563,528 480,000 83,508
01 Al&t| 560,000 477,000 83,000
O DEATALS(EE)RX 24 (SI42 %)
250,000,000% * 14} 250,000
O DEUTALS(THE) R 24 (42 %)
250,000,0008 * 14} 250,000
O ALIHA, SAl RHSZ FX 24 (S
o) 50,000,0002! * 14! 50,000
O ALIHA RUHSZE SX 24 (SI4H )
,000,0002 * 109 10,000
03 Al&=CH| 3,528 3,000 508
O DSAHALSRN 24
560,000,008 * 0.63% 3,528
YEITHY 2 678,520 673,340 5,180
01 L2yl 406,420 459,340 £52,920
01 A2l 61,220 57,220 4,000
O st 47,000
- FINUEERY LY M
10,0008 * 2074 4 2,000
- DEHREDHARS AU S
20024 * 50,0000 0,000
- SUFIASL MASKAH R
200,0002 * 0B A 16,000
- EUFIASAL NLDXA R
2000008 * 60t A 12,000
- AR A 2 £DE Y
250,000% * 122 3,000
- JIAME N L SR $4E
802 * 50,0001 4,000
O T=y| 3,300
- FHXCER 0=
300,00020 * 119! * 13l 3,300
O 2zl 10,920




CA=ET HENSY

=

H: WESNE S (AER AENEY)
A SANE AN (ZTALNSAY SEIIH) ce &R
M. (B - MEAY - B2 Aol e =2t
- 2 HFEIINES S ZAH|
7,000& * 1321 x 10 x 128 10,920
222%H| 345,200 402,120 N56,920
O 3822 % HA 257,640
- SYPHFEIHSE 0lsHII2=
70,000& = 1000 = 128 8,400
- RoIHEIHet MEIINHE
110,000& = 6CH * 7,920
- SIS NAENN SHaLR
1,800& * 50,0000H4 90,000
- SR QYDA SESES
2902 * 60,0000H 17,400
- SYUZETYY DNN SHaLR
1,800& = 40,0000H 72,000
- S EFEIRE SFENAAN RESES
1,800& = 30,0000H 54,000
- NENLED L HIIAN 242
600,000& = 4CH 2,400
- AoIXgE2A 2222 60,0008 « 128 720
- dolxgeEas MI|e2
250,000& * 128 3,000
- AUNTEBL BOHH B 442
150,000& = 12& 1,800
O AEHHBISX Y 57,560
- FEIEe Z2OE xS
630,000& * 12& 7,560
- FEACENBA BN L SHFY SN
= 1,000,000& = 12& 12,000
- FTEXNSSIME KRAES
1,000,000 = 38CH 38,000
O Xh&FHed] 30,000
- FEXNSEXNE K80 7,500,000 « 404 30,000
(005 28,800 24,000 4,800
=LH O HI 28,800 24,000 4,800
O S2YF=EX NES?HEHFA
20,0002 = 10Q1 = 82 = 12& 19,200
O SYFEY AoYRE
20,000 = 221 x 20 = 128 9,600
A EHIY 20| 242,500 190,000 52,500
Al & H| 242,500 190,000 52,500
O =HXSECCTVE X (5 A)
35,000,000& = 5CH 175,000
O F=EXEHECCTV LEDE 2 & & X
3,300,000& * 15CH 49,500
O nsiaad eg2ddy 18,000,000& * 14! 18,000
NS E== =Tl 800 0 800
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